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When two or more numbers are put together, it is called addition. The
numbers to be added are called addends and the number. we get after
adding is called the sum of these numbers. The sum is always greater than
the numbers being added.

Addition of 4-digit Numbers

We have already learnt how to add 1-digit, 2-digit and 3-digit numbers. Now,
we shalllearnto add 4-digit numbers.

Addition of 4-digit Numbers (without Regrouping)

To add two or more 4-digit numbers, we arrange the digits of the given
numbers in columns of thousands, hundreds, tens and ones. We first add
the ones, then the tens, followed by the hundreds and finally the thousands.

Example I : Add 6353 and 2336.

Solution

Step 1 : Putthenumbersinthe columns correctly.

Step 2 : Addtheones.
3ones+6o0nes=90nes Th | H| T O
Write 9inthe onescolumn. 6 | 3|53

Step 3 : Addthetens. +1 2 13|3 |6
S5tens+3ten=8tens 8|1 6| 81| 9

Write 8 inthe tens column.
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Step 5

: Addthe hundreds.

3 hundreds + 3 hundreds =6 hundreds
Write 6inthe hundreds column.

: Addthethousands.

6thousands+ 2 thousands =8 thousands
Write 8 inthe thousands column.
Therefore, 6353 +2336=8689.

Example IT: Add4346and 3532 usingthe expanded form.

Solution
Step 1

+
Step 2

+
Step 3

+

(34

qa

Write the numbers in the expanded form and follow the
given steps.

Addthe ones.
Th |  H| T | O
4 | 3 | 4 6 —> 4000+300+40+6
3 5 3 2 —— 3000+500+30+2
8 8
Addthetens
Th |  H| T | O
4 | 3 | 4 6 ——> 4000+300+40+6
3 5 3 2 —— 3000+500+30+2
7 18 70+8
Add the hundreds.
Th H| T | O
4131416 " 4000+300+40+6
3 1513 |2~ 3000+500+30+2
AR 800+70+8
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Step 4 : Add thethousands. ;Qq’
Th  H | T | O .
4 | 3|4 | 6 — 4000+300+40+6
+| 3 5 3 2 —— 3000+500+30+2

/7 | 8|7 | 8 7000+800+70+8

Therefore, 4346 +3532 =7878.
Example III : Add 8573 and 1426, using both place value and the

expanded form.
Solution : Using place Using expanded
value form
ThiH|T|O ThiH|T|O
8573 8|5 |7 |3 8000+500+70+3
+11/4/2|6|+t]1|4]|2]|6|1000+400+20+6
919919 99|99 9000+900+90+9=9999

Therefore, 8573 +1426=9999.

Addition of 4-digit numbers (with regrouping)

When we add two numbers such as 8 ones and 6 ones, we need to regroup
the numbers to make addition easier. We can take 2 one from the 6 ones,
and add 2 oneto 8 onesto make aten.

So,8ones+60ones=8ones+2one+4ones=10ones+4ones
=1tenand4ones.

T|O T|O L RO T|0O T|O

=)
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‘ 6 Similarly, we canregroup tens, hundreds and thousands.
a. 8tens+8tens=16tens=10tens+6tens =1 hundred and 6tens
b. 3hundreds+9hundreds=12hundreds = 10 hundreds + 2 hundreds

Example IV
Solution
Step 1

Step 2

Step 3

Step 4

Step 5

J facts to Know

% Additionis a process of putting things together.

= 1thousandand 2 hundreds.
Add 5265 and 3578.

Putthe numbersinthe columns correctly.
Addthe ones.

5ones + 8 ones =13 ones =1 ten and 3 ones. Write 3 in the
onescolumnandtake 1tentothetenscolumn.

Add the tens.

6tens+7tens + 1 ten (carried over) Th 1H 1T O
=14tens=1hundredand 4 tens 5 2 6 5
Write 4 inthe tens column and take +] 3 5 7 3
1 hundred tothe hundreds column. e 2
Add the hundreds.

2 hundreds +5 hundreds + 1 hundred (carried over)
=8 hundreds

Write 8 in the hundreds column.

Add the thousands.
5thousands+ 3 thousands=8thousands

Write 8 inthe thousands column.

Therefore, 5265+ 3578 =8843.

<+ The numbers being added are called addends.

<+ The answer after adding addends is called sum.
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( ) Addition of Three 4-digit Numbers e
Example V : Add4258,2442and 1365. Th H | T |O
1 1 1
Solution 4 2 5 8
Step1 Put the numbers in the columns 21 a4l 2
correctly.
+| 1 3 6 5
Step 2 Addtheones.
8 1 0 | 6 |5
8ones+2one+5o0nes=150nes
=1tenand5ones
Write 5inthe onescolumn andtake 1tentothe tens column.
Step 3 Addthetens.
S5tens+4tens+6tens+1ten(carried over)=16tens
=1 hundred and 6 ten
Write 6 in the tens column and take 1 hundred to the
hundreds column.
Step 4 Add the hundreds.
2 hundreds+4 hundreds+3 hundreds+ 1 hundred (carried
over)=10hundreds=1thousand and O hundred
Write 0 in the hundreds column and take 1 thousand to the
thousands column.
Step 5 Add the thousands.

4 thousand + 2 thousands + 1 thousands + 1 thousand
(carried over) =8 thousands

Write 8 inthe thousands column.
Therefore, 4258 + 2442 + 1365=8065.
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1. Solve the following.

a. Th i H| T|O|b. [ThfH|T|O| cc [ThfH| T O

5(13]6 35|22 214 ]1

+ 44| 4]|2 + 51263 +4|13|5]4

2. Write each ofthe following in expanded form and add.

a. 5253+3626 b. 6436 +2542 c. 3286+6613d.3443 +
5344
3. Addandwrite ancwer in eachofthe follawing,
_dmlnfT]o| ThiH|T]|oO _IminfT]o
4 14|62 316|4]9 4 13|48
+ 8| 8| 8 + 517165 + 6 7
4. Write each ofthe followingin columns and add.
a. 3867+4498 b. 4978+2935 c.3469+3893 d. 6564 +2438
5. Addthefollowing.

g |ThiH| T Oy |ThiH T |O| . |[ThiH|T O
35|65 2| 5|42 6|4|3]8s
18|24 8|2 |8 4 | 3

+ 213148 + 63|85 + 6|9
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(, Order of Addends

Let us see what happens when we change the order of the addends.
Letusadd 5366to4423and 4423 to05366.

Th H| T O Th H| T O

3| 6|6 4 | 2| 3

+ 4|1 4|2 |3 + 53] 6|6
71819 Answer : 9789 917183 Answer : 9789

We see that in both the cases, we get the same answer. So, the order of the
addends does not change the sum.

j Facts to Know

< We can add two or more numbers in any order, the sum remains:
the same.

Example VI: Add3134,444and408.

Solution : Wecanaddthese numbersinthree ways:
1. 3134+(444+408)=3134+852=3986
2. (3134+408)+444=3542+444=3986
3. (3134+444)+408=3578+408=3986

(p i/ Easy to Add
1. Adding zero

Zero added toanumberisequal tothe numberitself.
ForExample : 828+0=828
5936+0=5936
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. Adding numbers that end with azero
ForExample : Add500and300.
You can do this without actual addition on paper.

500 + 300 actually can be done by adding 5 + 3 =8 and then writing two
zeros thereafter.

So, 500+ 300=3800.
3. Adding 10

10 added to a number increases the value of the digit in the tens
place by 1.

ForExample : 68+10=78;826+10=836;8249+10=8259 etc.
4. Adding 100

100 added to a number increases the value of the digit in the hundreds
placeby 1.

For Example : 832+100=932;4883+100=4983 etc.
5. Adding1000

1000 added to a number increase the value of the digit in the thousands
place by 1.

ForExample : 7308+1000=8308;4489 +1000=5489 etc.

< / Estimating the Sum

Estimation is a rough calculation which you make without
doing the actual calculation. Suppose you are asked to
estimate or guessthe answerof 342 + 534,

Willit be less than 800 or more than 800 ? +
You know that 300+ 500 =800.

oluv|lw|T
< w |-
o~ N[O
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As342>300and534>500, the sum of Q 5
342 +534 will be more than the sum of 300 + 500. 5

So, you can estimate that it will be more than 800.

Now, when we actually add, we get 876 as the answer, which is more than 800.

() Missing Addends
Le:c us learntofind the missing addends.
Observe the following : 400 +.......... =600

Since one addend and the sum, both end in two zeros, the missing addend
will also end in two zeros.

You know that4 +2=6.5S0,400+200=600.
Similarly, the missingaddendin8000+.......... =9000 will be
1000as 8000+ 1000=9000, (8+1=9).

'i 1 Exercise @

1. Fillinthe blanks.

a. 3228+4386=.............. +3228
b. 4836+.............. =4364+4836
c. 2246+2430+486=2430+.............. +2246
d. 908+836+.............. =836+7440+908
2. Addthefollowing.
a. 82+0 = b. 8548+1000 = ...
c. 8349+1 = d. 6346+100=..........
e. 9428+10 = f. 3587+0 = e
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the sumin each of the following.

a. | H| T O
312 3

+| 41169
c. H| T O
2120

+| 410 2

Less than 800
More than 800

Answer-:.............

Less than 600
More than 600

Answer-:.............

<i Word Problems

Example VIT :

Solution

Example VIII:

(S

+

d.

+

. i 3. Estimate the sum and tick (v') the appropriate option. Then solve

Less than 550

More than 550

Answer: .............

H| T
1

4 | 2
H| T
4 |0

Less than 750
More than 750

Answer:.............

The number of men and women in a town are 2594 and

5638 respectively. Find the total number of people in the
town.

Number of men

Number of women

2594
5638

+

Th H| T O
1—(1—/1

2|59 4
5/6|3)|8
812 |3 |2

Thus, total number of people=2594 + 5638 =8232.

An International calculator company sold 3462 calculator

sets in America, 1626 calculator sets in Japan and 2875
calculator sets in India. How many calculator sets are sold
bythe companyinall ?
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Solution : 1—1—1
. : 34|62
Number of calculator sets sold in America=3462
Number of calculator setssoldinJapan =1626 1161216
Number of calculatorsetssoldinIndia  =2875 28|75
7 9163

Thus, total number of calculator sets sold=3462 + 1626 + 2875 =7963.

.] 2 Exercise @

1. These are 4660 mangoes, 2689 apples and 1676 plums in a garden. How
many fruits are there altogether?

2. A man travelled 2686 km in one month and 3426 km in another month.
How much did the man travel altogether ?

3. 4608 passengers were travelling in one train and 4576 passengers were
travelling in another train. How many passengers were travelling
altogether?

4. Inatown2623are menand5268are women. How many people are there
altogether?

5. Thereare4265boys, 4034 girlsand 1608 teachersinacollege. Whatisthe
total population?

6. Acolddrinkfactory produces 3306, 3928 and 2084 bottles of cold drink in
three days. How many bottles of cold drink are producedinall ?

7. Inalibrary,there are 2842 books of English, 4989 books of Mathematics and
1288 books of Chemistry. How many books are thereinall ?

8. In a mobile company these are 4665 males and 3286 females. Find the
total number of membersinthe company.
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The numbers being added are called addends.

We can add two or more numbers in any order, the sum remains the
same.

The total of two or more numbers is called their sum.
Zero added to anumberis equal to the number itself.

100 added to a number increases the value of the digit in the hundreds
placeby 1. )

1. Multiple Choice Questions (MCQs)

Tick (v') the correctoption:

d.

b.

qa

(44

4thousandand 3 hundredsisequalto....................... :

(i) 43thousands (ii) 43tens

(iii) 43 hundreds (iv) 430thousands
Additionof 2267,4898 and 2532isequalto....................... .
(i) 8697 (i) 9697

(iii) 9626 (iv) 9627

1000 added to a number increases the value of the digit in the thousand
placeby....................... :

(i) 100 (i) 1000
(iii) 1 (iv) 10
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d. Add2694,1286and3265isequalto....................... .

(i) 7242
(iii) 7240

(i) 7254

(iv

) 7245

e. Thesumofthelargest3-digitnumberand10isequalto................ :

(i) 1090
(iii) 1009

(ii)

(iv

1099
) 1190

f.  Thesum of the smallest 4-digit numberand425isequalto.............. .

(i) 1025
(i) 1745

2. Addthefollowing.

(ii)

(iv

1425

) noneofthese

& IthlH|T]lo]| P |ThlH|lT|O| S |Th|H]|T]|O
52|83 4 16|07 4 | 51]2 3
+( 2 (14|05 + 510 + 71 3
d. [Th|H| T|O| e |Th H|T|0 T Th H T O
314|509 214|109 21 9/0 6
316 8 4 3|52 314|3]|2
+ 2 14| 2 + 12| 8| 4 + 24|34

3. Solvethe sumsinyournotebook.
a. 2946+6003 b. 2094+3803 c. 6496+3202 d. 5132+4847
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‘e § 4. Addbyusingthe expanded and shortformsinyour notebook.

a.

6262 +3233 b. 6342+3534 c. 6025+3663 d. 3264+4622

5. Solvethefollowing.

a.
b.
C.
d.

400+660 =
525+205 =
1600+800 = ...
4000+4060 = ...

6. Addthe numbershorizontally.

C.

d.

H T O H T O

5/6/4,  + 3|58, =

21 8|7|+ 4|36, =

313(9| 4+ 4|25 =

5(6[8|,|3|8|6]| -

7. Solve the following word problems.

a.

In a town, there were 2468 men, 3827 women, and 625 children. How
many people were thereinthetown?

In a library, there were 3644 Science books. The librarian puts 4236
Maths books. How many books are therein all ?

In a godown, there are 2472 bags of wheat and 1328 bags of rice. Find
the total number of bagsinthe godown.

| am a 3-digit number. After adding 1 to me, you need to regroup the
ones, tens and hundreds. Whichnumberam 1°?
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Objective To understand the concept of adding by expanding.
Materials Required : < 4 sets of cards in four different colours with numbers 0,
1,2,3,4,5,6,7,8and 9 written onthem.
< 4 containers for keeping the cards.
X Each set of cards to be placed in a separate container.
Yellow cards for 1000s, orange for 100s, pink for 10s
and blue for 1s.
X Crayons of the same colour for each child.
Process:

The class will be divided into groups of 4 students.

4 children from a group are asked to pick up a card
from each container as shown here.

Another group of children also pick up 4 cards in the
same way as shown in above step.

Children from both the groups note the numbers and
addthemasshown here.

Other groups of 4 + 4 children are asked to pick up the
cardsand add as shownin steps above.

At least 4 such sums should be done. More practice will
help the children understand the problem better.

The children should be asked to use the same colour
code for the different digits as shown.
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4 | 5123
Thi H| T | O
3,446
Th i H| T | O
4
- 4 | 4| 6
47
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